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QUESTION 1

A web administrator wants to configure a new virtual server to deliver HTTP content to end users. 

Which three components are mandatory to accomplish this? (Choose three.) 

A. Load balancing method 

B. Real server pool 

C. Server persistence 

D. Health check 

E. Application profile 

Correct Answer: ABE 

 

QUESTION 2

Which are two advantages of TCP multiplexing? (Choose two.) 

A. it reduces the number of TCP sessions that the server 

B. it allows FortiADC to balance a client TCP connection among multiple servers 

C. A new client connection does not need to wait for a new FortiADC-to-server connection 

D. It reduces the number of TCP sessions that clients need to establish 

Correct Answer: AB 

 

QUESTION 3

Refer to the exhibits. 

Latest NSE6_FAD-6.2 Dumps | NSE6_FAD-6.2 Practice Test | NSE6_FAD-6.2 Study Guide                               2 / 4

https://www.pass4itsure.com/nse6_fad-6-2.html
https://www.pass4itsure.com/nse6_fad-6-2.html
https://www.pass4itsure.com/nse6_fad-6-2.html


https://www.pass4itsure.com/nse6_fad-6-2.html
2024 Latest pass4itsure NSE6_FAD-6.2 PDF and VCE dumps Download

Which show the HA configurations for two FortiADC devices 

If both FortiADC devices are operational, which FortiADC is the active device in the cluster? 

A. The FortiADC with the highest HA uptime value 

B. The FortiADC with the highest sorting serial number 

C. FortiADC-1 

D. FortiADC-2 

Correct Answer: D 

 

QUESTION 4

An administrator is running the following sniffer on FortiADC: 
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Diagnose sniffer packet any `\\'port80\\'\\' 2 

What two pieces of information are included in the output of the sniffer? (Choose two.) 

A. IP payload 

B. Ethernet headers 

C. Port names 

D. IP headers 

Correct Answer: AD 

 

QUESTION 5

Which load balancing method requires the use of an SNMP health check? 

A. Destination IP hash 

B. Round robin 

C. Dynamic load 

D. Least connection 

Correct Answer: C 
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